



San Antonio Water System

Solicitation Vendor Price List

Prepared By: S. Manzello

Solicitation No : CO-00198 Contract No : CO-00198-01

Job #: 18-4501 SAN ANTONIO WATER SYSTEM

PO Box :2994

San Antonio, Texas, 78298-2449

TABULATION OF BIDS

November 13, 2018: Date Contract Awarded by SAWS Board

November 26, 2018: Date Posted

Proposal: C-5 Culebra and Castroville to Laredo and C-28 Zarzamora Creek

Time And Date: September 14, 2018, 10:00 AM

				CO-00198 - 1_S.J. LOUIS CONSTRUCTION OF			CO-00198 - 2_		STRUCTION CO.,				
Line No	Item No	Item Description	Unit	Unit Price	TEXAS, LTD. Quantity	Total Amount	Unit Price	INC. Quantity	Total Amount	Unit Price	INC. Quantity	Total Amount	
1	103.1	REMOVE CONCRETE CURB	LF	\$3.00	911	\$2,733.00	\$20.00	911	\$18,220.00	\$5.45	911	\$4,964.95	
2	103.3	REMOVE CONCRETE SIDEWALKS & DRIVEWAYS	SF	\$2.00	4,275	\$8,550.00	\$4.00	4,275	\$17,100.00	\$1.87	4,275	\$7,994.25	
3	103.4	REMOVE MISCELLANEAOUS CONCRETE	SF	\$2.00	3,942	\$7,884.00	\$5.00	3,942	\$19,710.00	\$2.97	3,942	\$11,707.74	
4	202.1	PRIME COAT	GAL	\$3.00	4,090	\$12,270.00	\$8.00	4,090	\$32,720.00	\$4.65	4,090	\$19,018.50	
5	203.1	TACK COAT	GAL	\$3.00	2,049	\$6,147.00	\$10.00	2,049	\$20,490.00	\$4.65	2,049	\$9,527.85	
6	205.4	HOT MIX ASPHALTIC CONCRETE PAVEMENT, TYPE D (3" COMPACTED DEPTH)	SY	\$13.20	5,078	\$67,029.60	\$35.00	5,078	\$177,730.00	\$18.36	5,078	\$93,232.08	
7	205.4	HOT MIX ASPHALTIC CONCRETE PAVEMENT, TYPE D (2" COMPACTED DEPTH)	SY	\$8.80	14,867	\$130,829.60	\$18.00	14,867	\$267,606.00	\$12.49	14,867	\$185,688.83	
8	208.1	SALVAGE, HAUL, STOCKPILE ASPHALT PAVEMENT (3" DEPTH)	SY	\$3.45	5,078	\$17,519.10	\$8.00	5,078	\$40,624.00	\$4.33	5,078	\$21,987.74	
9	208.1	SALVAGE, HAUL, STOCKPILE ASPHALT PAVEMENT (2" DEPTH)	SY	\$2.35	14,867	\$34,937.45	\$6.00	14,867	\$89,202.00	\$3.41	14,867	\$50,696.47	
10	401.1	REINFORCED CONCRETE PIPE (CLASS III) (36" DIAMETER)	LF	\$172.00	32	\$5,504.00	\$90.00	32	\$2,880.00	\$184.23	32	\$5,895.36	
11	401.1	REINFORCED CONCRETE PIPE (CLASS III) (48" DIAMETER)	LF	\$190.00	20	\$3,800.00	\$250.00	20	\$5,000.00	\$284.14	20	\$5,682.80	
12	413.1	FLOWABLE FILL (LOW STRENGTH)	CY	\$125.00	191	\$23,875.00	\$150.00	191	\$28,650.00	\$96.45	191	\$18,421.95	
13	500.1	CONCRETE CURB	LF	\$25.00	911	\$22,775.00	\$45.00	911	\$40,995.00	\$46.47	911	\$42,334.17	
14	502.1	CONCRETE SIDEWALKS	SY	\$53.00	284	\$15,052.00	\$85.00	284	\$24,140.00	\$114.57	284	\$32,537.88	
15	503.1	PORTLAND CEMENT CONCRETE DRIVEWAY	SY	\$65.00	191	\$12,415.00	\$95.00	191	\$18,145.00	\$115.59	191	\$22,077.69	
16	505.1	CONCRETE RIPRAP (5" THICK)	SY	\$97.00	356	\$34,532.00	\$110.00	356	\$39,160.00	\$116.19	356	\$41,363.64	
17	505.1	CONCRETE RIPRAP (6" THICK)	SY	\$153.00	82	\$12,546.00	\$150.00	82	\$12,300.00	\$127.53	82	\$10,457.46	
18	506.1	CONCRETE RETAINING WALL	CY	\$1,000.00	0	\$150.00	\$2,000.00	0	\$300.00	\$2,905.13	0	\$435.77	
19	507.1	CHAIN LINK WIRE FENCE (4 FT. HIGH)	LF	\$20.00	425	\$8,500.00	\$35.00	425	\$14,875.00	\$33.70	425	\$14,322.50	
20	507.2	CHAIN LINK WIRE FENCE (6 FT. HIGH)	LF	\$30.00	787	\$23,610.00	\$40.00	787	\$31,480.00	\$41.83	787	\$32,920.21	
21	509.1	METAL BEAM GUARD FENCE	LF	\$50.00	70	\$3,500.00	\$150.00	70	\$10,500.00	\$58.10	70	\$4,067.00	
22	511.3	REPLACING WITH HOT MIX ASPHALTIC CONCRETE PAVEMENT (1.5" TYPE B)	SY	\$24.60	465	\$11,439.00	\$35.00	465	\$16,275.00	\$33.70	465	\$15,670.50	
23	511.3	REPLACING WITH HOT MIX ASPHALTIC CONCRETE PAVEMENT (12" TYPE B)	SY	\$82.20	3,643	\$299,454.60	\$110.00	3,643	\$400,730.00	\$76.80	3,643	\$279,782.40	

Proposal : C-5 Culebra and Castroville to Laredo and C-28 Zarzamora Creek

				CO-00198 - 1_S.J. LOUIS CONSTRUCTION OF			CO-00198 - 2_QRO MEX CONSTRUCTION CO., CO-00198 - 3_SPAWGLASS CIVIL CONSTRUCT					
Line No	Item No	Item Description	Unit	Unit Price	TEXAS, LTD. Quantity	Total Amount	Unit Price	INC. Quantity	Total Amount	Unit Price	INC. Quantity	Total Amount
24	511.3	REPLACING WITH HOT MIX ASPHALTIC CONCRETE PAVEMENT (15" TYPE B)	SY	\$95.33	567	\$54,052.11	\$145.00	567	\$82,215.00	\$70.62	567	\$40,041.54
25	515.1	TOPSOIL (6")	CY	\$12.00	3,969	\$47,628.00	\$15.00	3,969	\$59,535.00	\$24.97	3,969	\$99,105.93
26	520.1	HYDROMULCHING	SY	\$0.50	23,761	\$11,880.50	\$1.00	23,761	\$23,761.00	\$1.06	23,761	\$25,186.66
27	530.1	BARRICADES, SIGNS AND TRAFFIC HANDLING	LS	\$67,000.00	1	\$67,000.00	\$200,000.00	1	\$200,000.00	\$220,646.46	1	\$220,646.46
28	531.3	REMOVE AND REPLACE SIGN (STOP)	EA	\$800.00	1	\$800.00	\$500.00	1	\$500.00	\$319.56	1	\$319.56
29	535.1	HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (4" YELLOW LINE)	LF	\$1.40	1,048	\$1,467.20	\$15.00	1,048	\$15,720.00	\$0.98	1,048	\$1,027.04
30	535.4	HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (8" WHITE LINE)	LF	\$2.80	83	\$232.40	\$20.00	83	\$1,660.00	\$2.27	83	\$188.41
31	535.7	HOT APPLIED THERMOPLASTIC PAVEMENT MARKINGS (24" WHITE LINE)	LF	\$8.40	672	\$5,644.80	\$25.00	672	\$16,800.00	\$6.39	672	\$4,294.08
32	535.9	LEFT WHITE ARROW	EA	\$160.00	3	\$480.00	\$250.00	3	\$750.00	\$145.26	3	\$435.78
33	535.12	WORD "ONLY"	EA	\$285.00	2	\$570.00	\$50.00	2	\$100.00	\$174.31	2	\$348.62
34	537.6	PAVEMENT MARKER (TYPE I-C)	EA	\$6.00	10	\$60.00	\$5.00	10	\$50.00	\$6.97	10	\$69.70
35	537.8	PAVEMENT MARKER (TYPE II A-A)	EA	\$6.00	96	\$576.00	\$7.00	96	\$672.00	\$6.97	96	\$669.12
36	540.1	ROCK FILTER DAM (INSTALLATION)	EA	\$24,000.00	2	\$48,000.00	\$5,000.00	2	\$10,000.00	\$27,598.33	2	\$55,196.66
37	540.1	ROCK FILTER DAM (REMOVAL)	EA	\$16,000.00	2	\$32,000.00	\$2,000.00	2	\$4,000.00	\$17,662.93	2	\$35,325.86
38	SWPPP	STORMWATER POLLUTION PREVENTION PLAN	LS	\$17,000.00	1	\$17,000.00	\$75,000.00	1	\$75,000.00	\$14,409.23	1	\$14,409.23
39	801.1	LEVEL 1 TREE PROTECTIVE FENCING	LF	\$3.25	3,540	\$11,505.00	\$6.00	3,540	\$21,240.00	\$3.78	3,540	\$13,381.20
40	801.2	LEVEL 2A TREE PROTECTIVE FENCING	LF	\$3.25	918	\$2,983.50	\$6.00	918	\$5,508.00	\$3.78	918	\$3,470.04
41	200	FLEXIBLE BASE (6")	SY	\$14.80	465	\$6,882.00	\$16.00	465	\$7,440.00	\$12.75	465	\$5,928.75
42	200	FLEXIBLE BASE (12")	SY	\$18.10	256	\$4,633.60	\$35.00	256	\$8,960.00	\$42.56	256	\$10,895.36
43	550 *	TRENCH EXCAVATION SAFETY PROTECTION	LF	\$0.01	11,682	\$116.82	\$10.00	12,088	\$120,880.00	\$12.88	11,682	\$150,464.16
44	814	30" DUCTILE IRON PIPE	LF	\$625.56	65	\$40,661.40	\$300.00	65	\$19,500.00	\$247.66	65	\$16,097.90
45	816	30" STEEL PIPE	LF	\$676.65	30	\$20,299.50	\$675.00	30	\$20,250.00	\$386.62	30	\$11,598.60
46	812	6" C900 DR 18 PVC WATER LINE	LF	\$54.00	283	\$15,282.00	\$120.00	283	\$33,960.00	\$52.52	283	\$14,863.16
47	812	8" C900 DR 18 PVC WATER LINE	LF	\$70.10	163	\$11,426.30	\$130.00	163	\$21,190.00	\$59.10	163	\$9,633.30
48	820	30" CONCRETE STEEL CYLINDER PIPE	LF	\$694.10	548	\$380,366.80	\$496.00	548	\$271,808.00	\$700.71	548	\$383,989.08
49	824	RELAY 3/4" METERED SVC LINE (SHORT)	EA	\$4,800.00	1	\$4,800.00	\$1,500.00	1	\$1,500.00	\$1,858.99	1	\$1,858.99
50	828	6" GATE VALVE	EA	\$1,960.00	2	\$3,920.00	\$1,300.00	2	\$2,600.00	\$944.25	2	\$1,888.50
51	828	8" GATE VALVE	EA	\$2,410.00	2	\$4,820.00	\$1,450.00	2	\$2,900.00	\$1,247.99	2	\$2,495.98
52	830	30" BUTTERFLY VALVE	EA	\$30,154.00	3	\$90,462.00	\$21,000.00	3	\$63,000.00	\$16,198.46	3	\$48,595.38
53	831	6" X 6" CUT-IN TEE	EA	\$2,400.00	1	\$2,400.00	\$4,500.00	1	\$4,500.00	\$1,643.29	1	\$1,643.29
54	831	30" X 30" CUT-IN TEE	EA	\$26,030.00	3	\$78,090.00	\$62,000.00	3	\$186,000.00	\$16,708.22	3	\$50,124.66
55	836	DUCTILE IRON FITTINGS	TN	\$1.00	0	\$0.31	\$9,000.00	0	\$2,790.00	\$4,942.23	0	\$1,532.09
56	840	6" TIE-INS	EA	\$2,400.00	4	\$9,600.00	\$3,500.00	4	\$14,000.00	\$2,148.49	4	\$8,593.96
57	840	8" TIE-INS	EA	\$2,500.00	3	\$7,500.00	\$4,000.00	3	\$12,000.00	\$2,220.21	3	\$6,660.63
58	840	30" TIE-INS	EA	\$22,730.00	3	\$68,190.00	\$15,000.00	3	\$45,000.00	\$10,227.26	3	\$30,681.78
59	841	HYDROSTATIC TESTING OPERATIONS	EA	\$3,750.00	5	\$18,750.00	\$2,000.00	5	\$10,000.00	\$2,324.07	5	\$11,620.35

Proposal : C-5 Culebra and Castroville to Laredo and C-28 Zarzamora Creek

				CO-00198 - 1_S.J. LOUIS CONSTRUCTION OF TEXAS, LTD.			CO-00198 - 2_	QRO MEX CON INC.	STRUCTION CO.,	CO-00198 - 3_SP	AWGLASS CIVI INC.	S CIVIL CONSTRUCTION, C.				
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount				
60	844	2" TEMPORARY BLOW-OFF	EA	\$1,660.00	3	\$4,980.00	\$1,500.00	3	\$4,500.00	\$600.40	3	\$1,801.20				
61	844	2" PERMANENT BLOW-OFF	EA	\$3,100.00	3	\$9,300.00	\$2,500.00	3	\$7,500.00	\$1,436.83	3	\$4,310.49				
62	844	4" TEMPORARY BLOW-OFF	EA	\$5,100.00	3	\$15,300.00	\$2,000.00	3	\$6,000.00	\$3,369.70	3	\$10,109.10				
63	844	4" PERMANENT BLOW-OFF	EA	\$7,050.00	1	\$7,050.00	\$9,000.00	1	\$9,000.00	\$4,283.68	1	\$4,283.68				
64	846	4" AIR RELEASE ASSEMBLY	EA	\$8,600.00	2	\$17,200.00	\$5,200.00	2	\$10,400.00	\$6,287.49	2	\$12,574.98				
65	848	8" D 3034 SDR 26 PVC SANITARY SEWER LINE (0'-6')	LF	\$30.85	93	\$2,869.05	\$68.00	93	\$6,324.00	\$58.82	93	\$5,470.26				
66	848	8" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$30.85	190	\$5,861.50	\$75.00	190	\$14,250.00	\$74.58	190	\$14,170.20				
67	848	8" D 3034 SDR 26 PVC SANITARY SEWER LINE (10'-14')	LF	\$30.85	10	\$308.50	\$85.00	10	\$850.00	\$102.05	10	\$1,020.50				
68	848	10" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$43.20	15	\$648.00	\$75.00	15	\$1,125.00	\$107.01	15	\$1,605.15				
69	848	12" D 3034 SDR 26 PVC SANITARY SEWER LINE (0'-6')	LF	\$51.72	10	\$517.20	\$120.00	10	\$1,200.00	\$95.03	10	\$950.30				
70	848	12" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$51.72	48	\$2,482.56	\$130.00	48	\$6,240.00	\$90.28	48	\$4,333.44				
71	848	15" D 3034 SDR 26 PVC SANITARY SEWER LINE (0'-6')	LF	\$63.14	20	\$1,262.80	\$135.00	20	\$2,700.00	\$60.25	20	\$1,205.00				
72	848	15" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$63.14	123	\$7,766.22	\$140.00	123	\$17,220.00	\$87.73	123	\$10,790.79				
73	848	15" D 2241 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$63.14	24	\$1,515.36	\$140.00	24	\$3,360.00	\$112.41	24	\$2,697.84				
74	848	18" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$83.13	10	\$831.30	\$150.00	10	\$1,500.00	\$150.01	10	\$1,500.10				
75	848	21" D 3034 SDR 26 PVC SANITARY SEWER LINE (6'-10')	LF	\$106.02	10	\$1,060.20	\$160.00	10	\$1,600.00	\$191.94	10	\$1,919.40				
76	848	SANITARY SEWER LINE TESTING & ACCEPTANCE	LS	\$5,000.00	1	\$5,000.00	\$150,000.00	1	\$150,000.00	\$11,620.35	1	\$11,620.35				
77	857 *	24" SN72 PN25 FRP SANITARY SEWER LINE (6'-10')	LF	\$436.26	1,030	\$449,347.80	\$289.00	1,247	\$360,383.00	\$184.30	1,030	\$189,829.00				
78	857	24" SN72 PN25 FRP SANITARY SEWER LINE (10'-14')	LF	\$436.26	172	\$75,036.72	\$300.00	172	\$51,600.00	\$217.16	172	\$37,351.52				
79	857	24" SN72 PN25 FRP SANITARY SEWER LINE (14'-18')	LF	\$436.26	506	\$220,747.56	\$320.00	506	\$161,920.00	\$237.93	506	\$120,392.58				
80	857	24" SN72 PN25 FRP SANITARY SEWER LINE (18'-22')	LF	\$436.26	2,104	\$917,891.04	\$330.00	2,104	\$694,320.00	\$238.15	2,104	\$501,067.60				
81	857	24" SN72 PN150 FRP SANITARY SEWER LINE (6'-10')	LF	\$473.26	1,533	\$725,507.58	\$348.00	1,533	\$533,484.00	\$209.88	1,533	\$321,746.04				
82	857	24" SN72 PN150 FRP SANITARY SEWER LINE (10'-14')	LF	\$473.26	312	\$147,657.12	\$360.00	312	\$112,320.00	\$239.72	312	\$74,792.64				
83	857	24" SN72 PN150 FRP SANITARY SEWER LINE (14'-18')	LF	\$473.26	180	\$85,186.80	\$368.00	180	\$66,240.00	\$276.69	180	\$49,804.20				
84	857	24" SN72 PN150 FRP SANITARY SEWER LINE (18'-22')	LF	\$473.26	243	\$115,002.18	\$420.00	243	\$102,060.00	\$313.60	243	\$76,204.80				
85	857 *	27" SN72 PN25 FRP SANITARY SEWER LINE (14'-18')	LF	\$444.99	1,205	\$536,212.95	\$340.00	1,237	\$420,580.00	\$264.15	1,205	\$318,300.75				
86	857	27" SN72 PN25 FRP SANITARY SEWER LINE (18'-22')	LF	\$444.99	114	\$50,728.86	\$360.00	114	\$41,040.00	\$301.04	114	\$34,318.56				
87	857	27" SN72 PN150 FRP SANITARY SEWER LINE (18'-22')	LF	\$485.42	152	\$73,783.84	\$380.00	152	\$57,760.00	\$330.10	152	\$50,175.20				
88	857	30" SN72 PN25 FRP SANITARY SEWER LINE (14'-18')	LF	\$467.65	172	\$80,435.80	\$395.00	172	\$67,940.00	\$298.00	172	\$51,256.00				
89	857	30" SN72 PN25 FRP SANITARY SEWER LINE (18'-22')	LF	\$467.65	505	\$236,163.25	\$425.00	505	\$214,625.00	\$334.32	505	\$168,831.60				
90	857	30" SN72 PN150 FRP SANITARY SEWER LINE (18'-22')	LF	\$506.65	306	\$155,034.90	\$465.00	306	\$142,290.00	\$362.06	306	\$110,790.36				
91	857	33" SN72 PN25 FRP SANITARY SEWER LINE (14'-18')	LF	\$480.12	388	\$186,286.56	\$410.00	388	\$159,080.00	\$309.16	388	\$119,954.08				
92	857 *	33" SN72 PN25 FRP SANITARY SEWER LINE (18'-22')	LF	\$480.12	465	\$223,255.80	\$440.00	527	\$231,880.00	\$346.29	465	\$161,024.85				
93	857	33" SN72 PN150 FRP SANITARY SEWER LINE (14'-18')	LF	\$532.12	748	\$398,025.76	\$490.00	748	\$366,520.00	\$340.52	748	\$254,708.96				
94	857 **	SANITARY SEWER LINE TESTING & ACCEPTANCE	LS	\$5,000.00	1	\$5,000.00	\$95,000.00	1	\$95,000.00	\$18,631.49	1	\$18,631.49				
95	852	STANDARD FIBER REINFORCED MANHOLE (0'-6')	EA	\$12,585.00	41	\$515,985.00	\$19,000.00	41	\$779,000.00	\$7,578.10	41	\$310,702.10				

Proposal : C-5 Culebra and Castroville to Laredo and C-28 Zarzamora Creek

				CO-00198 - 1_S.J. LOUIS CONSTRUCTION OF TEXAS, LTD.			CO-00198 - 2_	QRO MEX CON	STRUCTION CO.,	CO-00198 - 3_SP	AWGLASS CIVI	SS CIVIL CONSTRUCTION				
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount				
96	852	STANDARD FIBER REINFORCED MANHOLE WITH VENT (0'-6')	EA	\$15,290.00	3	\$45,870.00	\$27,000.00	3	\$81,000.00	\$8,181.45	3	\$24,544.35				
97	852	STANDARD FIBER REINFORCED DROP MANHOLE (0'-6')	EA	\$15,475.00	13	\$201,175.00	\$24,000.00	13	\$312,000.00	\$8,542.12	13	\$111,047.56				
98	852	STANDARD FIBER REINFORCED DROP MANHOLE WITH VENT (0'-6')	EA	\$17,225.00	7	\$120,575.00	\$27,000.00	7	\$189,000.00	\$8,935.72	7	\$62,550.04				
99	852	STANDARD FIBER REINFORCED EXTRA DEPTH MANHOLE (> 6')	VF	\$75.00	570	\$42,750.00	\$600.00	570	\$342,000.00	\$934.16	570	\$532,471.20				
100	852	STANDARD 4' MANHOLE (0'-6')	EA	\$6,187.50	6	\$37,125.00	\$10,500.00	6	\$63,000.00	\$5,174.11	6	\$31,044.66				
101	852	STANDARD 5' MANHOLE (0'-6')	EA	\$7,307.50	2	\$14,615.00	\$14,000.00	2	\$28,000.00	\$6,652.29	2	\$13,304.58				
102	852	STANDARD EXTRA DEPTH MANHOLES (>6')	VF	\$352.00	10	\$3,520.00	\$400.00	10	\$4,000.00	\$1,094.47	10	\$10,944.70				
103	852	MANHOLE TESTING & ACCEPTANCE	LS	\$5,000.00	1	\$5,000.00	\$100,000.00	1	\$100,000.00	\$17,430.52	1	\$17,430.52				
104	853	T-BASE FIBER REINFORCED MANHOLE (0'-6')	EA	\$23,295.00	3	\$69,885.00	\$26,200.00	3	\$78,600.00	\$17,004.40	3	\$51,013.20				
105	853	T-BASE FIBER REINFORCED DROP MANHOLE (0'-6')	EA	\$25,725.00	4	\$102,900.00	\$30,000.00	4	\$120,000.00	\$21,089.73	4	\$84,358.92				
106	853	T-BASE FIBER REINFORCED DROP MANHOLE WITH VENT (0'-6')	EA	\$26,995.00	1	\$26,995.00	\$30,000.00	1	\$30,000.00	\$24,509.73	1	\$24,509.73				
107	853	T-BASE FIBER REINFORCED EXTRA DEPTH MANHOLE (> 6')	VF	\$120.00	88	\$10,560.00	\$600.00	88	\$52,800.00	\$877.91	88	\$77,256.08				
108	853	MANHOLE TESTING & ACCEPTANCE	LS	\$5,000.00	1	\$5,000.00	\$105,000.00	1	\$105,000.00	\$32,211.61	1	\$32,211.61				
109	854	SANITARY SEWER LATERALS	LF	\$63.06	1,253	\$79,014.18	\$98.00	1,253	\$122,794.00	\$170.29	1,253	\$213,373.37				
110	854	TWO-WAY SANITARY SEWER CLEAN-OUT	EA	\$1,157.00	73	\$84,461.00	\$700.00	73	\$51,100.00	\$399.33	73	\$29,151.09				
111	856 *	JACKING, BORING, OR TUNNELING 42"	LF	\$437.70	2,069	\$905,601.30	\$420.00	1,820	\$764,400.00	\$486.83	2,069	\$1,007,251.27				
112	856 *	JACKING, BORING, OR TUNNELING 48"	LF	\$500.40	391	\$195,656.40	\$480.00	329	\$157,920.00	\$614.43	391	\$240,242.13				
113	856 *	24" CARRIER PIPE FOR JACKING, BORING, TUNNELING	LF	\$496.20	1,591	\$789,454.20	\$289.00	1,374	\$397,086.00	\$132.70	1,591	\$211,125.70				
114	856 *	27" CARRIER PIPE FOR JACKING, BORING, TUNNELING	LF	\$507.26	478	\$242,470.28	\$320.00	446	\$142,720.00	\$142.79	478	\$68,253.62				
115	856 *	33" CARRIER PIPE FOR JACKING, BORING, TUNNELING	LF	\$554.62	191	\$105,932.42	\$360.00	129	\$46,440.00	\$178.21	191	\$34,038.11				
116	856 *	42" CASING (MINIMUM 0.5" THICK) OR LINER PLATE	LF	\$148.00	2,069	\$306,212.00	\$320.00	1,820	\$582,400.00	\$125.99	2,069	\$260,673.31				
117	856 *	48" CASING (MINIMUM 0.5" THICK) OR LINER PLATE	LF	\$180.00	428	\$77,040.00	\$380.00	366	\$139,080.00	\$154.04	428	\$65,929.12				
118	858	CONCRETE ENCASEMENT, CRADLES, SADDLES AND COLLARS	CY	\$125.00	43	\$5,375.00	\$300.00	43	\$12,900.00	\$183.75	43	\$7,901.25				
119	860	VERTICAL STACKS	VF	\$58.02	365	\$21,177.30	\$80.00	365	\$29,200.00	\$125.08	365	\$45,654.20				
120	862	ABANDONMENT OF SANITARY SEWER MAIN (≥15" DIA.)	LF	\$23.56	6,226	\$146,684.56	\$18.00	6,226	\$112,068.00	\$17.15	6,226	\$106,775.90				
121	862	ABANDONMENT OF SANITARY SEWER MANHOLE	EA	\$1,970.00	23	\$45,310.00	\$1,000.00	23	\$23,000.00	\$1,275.27	23	\$29,331.21				
122	01150	ABANDONMENT OF SANITARY SEWER STRUCTURES (SIPHON BOX)	EA	\$13,500.00	1	\$13,500.00	\$60,000.00	1	\$60,000.00	\$4,648.14	1	\$4,648.14				
123	864-S1	BYPASS PUMPING SMALL DIAMETER SANITARY SEWERS (<24")	LS	\$50,000.00	1	\$50,000.00	\$700,000.00	1	\$700,000.00	\$492,212.15	1	\$492,212.15				
124	864-S2	BYPASS PUMPING LARGE DIAMETER SANITARY SEWERS (≥24")	LS	\$50,000.00	1	\$50,000.00	\$200,000.00	1	\$200,000.00	\$175,396.99	1	\$175,396.99				
125	01150	SEWER MAIN PRE-TELEVISION INSPECTION (8" THROUGH 15" DIA.)	LF	\$3.00	8,971	\$26,913.00	\$7.00	8,971	\$62,797.00	\$3.43	8,971	\$30,770.53				
126	01150	SEWER MAIN PRE-TELEVISION INSPECTION (18" THROUGH 24" DIA.)	LF	\$4.00	2,280	\$9,120.00	\$6.00	2,280	\$13,680.00	\$4.59	2,280	\$10,465.20				
127	866	SEWER MAIN POST TELEVISION INSPECTION (8" THROUGH 15" DIA.)	LF	\$2.00	143	\$286.00	\$5.00	143	\$715.00	\$2.27	143	\$324.61				
128	866	SEWER MAIN POST TELEVISION INSPECTION (18" THROUGH 27" DIA.)	LF	\$2.75	9,602	\$26,405.50	\$7.00	9,602	\$67,214.00	\$3.20	9,602	\$30,726.40				
129	866	SEWER MAIN POST TELEVISION INSPECTION (≥ 30" DIA.)	LF	\$4.00	2,771	\$11,084.00	\$6.00	2,771	\$16,626.00	\$3.76	2,771	\$10,418.96				
130	3000	REMOVAL, TRANSPORTATION, AND DISPOSAL OF A.C. PIPE	LF	\$50.00	200	\$10,000.00	\$100.00	200	\$20,000.00	\$29.05	200	\$5,810.00				
131	772	POST AND CABLE FENCE REMOVAL	LF	\$15.00	52	\$780.00	\$120.00	52	\$6,240.00	\$17.43	52	\$906.36				

Proposal : C-5 Culebra and Castroville to Laredo and C-28 Zarzamora Creek

				CO-00198 - 1_	S.J. LOUIS CON TEXAS, LTD.	STRUCTION OF	CO-00198 - 2_	QRO MEX CON	ISTRUCTION CO.,	CO-00198 - 3_SPAWGLASS CIVIL CONSTRUCTION, INC.		
Line No	Item No	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
132	772	NEW INSTALLATION OF POST AND CABLE FENCE	LF	\$30.00	52	\$1,560.00	\$150.00	52	\$7,800.00	\$34.86	52	\$1,812.72
133	01150	DMS-6200 FILTER FABRIC TYPE 1	SY	\$0.01	6,125	\$61.25	\$10.00	6,125	\$61,250.00	\$0.68	6,125	\$4,165.00
134	01150	BRACE / RELOCATE POWER POLES	ALW	\$31,500.00	1	\$31,500.00	\$31,500.00	1	\$31,500.00	\$31,500.00	1	\$31,500.00
135	01150	GAS RELOCATION	ALW	\$31,500.00	1	\$31,500.00	\$31,500.00	1	\$31,500.00	\$31,500.00	1	\$31,500.00
136	01150 *	TEMPORARY SPECIAL SHORING- SOIL NAIL WALL	LS	\$200,000.00	1	\$200,000.00	\$0.00	1	\$0.00	\$228,688.46	1	\$228,688.46
137	01150 *	INTERMEDIATE DEMOBILIZATION BYPASS PUMPING EQUIPMENT RENTAL	MD	\$1,600.00	20	\$32,000.00	\$0.00	20	\$0.00	\$1,743.05	20	\$34,861.00
138	01150 *	INTERMEDIATE DEMOBILIZATION BYPASS PUMPING FUEL	MD	\$500.00	20	\$10,000.00	\$0.00	20	\$0.00	\$2,324.07	20	\$46,481.40
139	01150 *	INTERMEDIATE DEMOBILIZATION BYPASS PUMPING WATCH	MD	\$720.00	20	\$14,400.00	\$0.00	20	\$0.00	\$2,033.56	20	\$40,671.20
140	SP100 *	INTERMEDIATE DEMOBILIZATION/REMOBILIZATION	LS	\$10,000.00	2	\$20,000.00	\$0.00	2	\$0.00	\$8,162.63	2	\$16,325.26
141	100 **	MOBILIZATION (maximum of 10% of items 1-140)	LS	\$1,000,000.00	1	\$1,000,000.00	\$628,290.33	1	\$628,290.33	\$1,000,605.00	1	\$1,000,605.00
142	101 **	PREPARATION OF RIGHT-OF-WAY (maximum of 5% of items 1-140)	LS	\$525,000.00	1	\$525,000.00	\$434,321.50	1	\$434,321.50	\$427,132.96	1	\$427,132.96
			Total			\$12,870,843.19			\$14,024,873.83			\$11,292,124.43
		* - Item quantity changed during negotiations	Price			\$12,870,843.19			\$14,550,982.00			\$11,292,124.43
		** - Unit Price changed during negotiations	Opening									
			Total									
Calendar D	ays To Complet	e : 730 from Notice to Proceed										